ตัวอย่างที่ 1 A rigid tank is divided into two equal parts by a partition. Initially, one side of the tank contains 5 kg of water at 200 kPa and 25 oC, and the other side is evacuated. The partition is then removed, and the water expands into the entire tank. The water is allowed to exchange heat with its surrounding until the temperature in the tank returns to the initial value. Determine


a) volume of the tank


b) the final pressure


c) the heat transfer for this process

 ตัวอย่างที่ 2 A piston cylinder device initially contains 0.5 m3 of nitrogen gas at 400 kPa and 27 oC. An electric heater within the device is turned on and is allowed to pass a current of 2 A for 5 minutes from a 120-Volts source. Nitrogen expands at constant pressure, and heat loss of 2800 J occurs during a process. Determine the final temperature of nitrogen. 

ตัวอย่างที่ 3 A piston cylinder device initially contains air at 150 kPa and 27 oC. At this state, the piston is resting on a pair of stops, as shown, and the enclosed volume is 400 L. The mass of the piston is such that a 350 kPa pressure is required to move it. The air is now heated until its volume has doubled. Determine


a) the final temperature


b) the work done by the air


c) the total heat transferred to the air
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